reaction vessel for further oxigauon [;0 UuIc aciu.
A = correct conditions, M = 4 correct explanation

Test yourself 10A

1 a SiFy(s) = Sr2*(aq) + 2F(aq)
b 5=0.012g per 100 g of water
=0.12 g - ¢

= 96x104mol |.-!

C ‘ST2+] =96x10 4n“)| | l. “- l =2 %96 x l()" mol L l
d K, = [Sr24)[F)

=[9.6 x 10412 x9.6 x 10 4)2
=35x10°

2a  MAgl = 23477 2 mol

- 28x10%e L
solubility = — gL~
234.77 g mol’

= LI19% 10" mol L

Agl(s) = Ag*(aq) + I"(aq)
K, = [Ag*][I]
d [Ag'] = [I'] = 1.L19x 10
K, = (1.19x 10
= l.4x107
PbBry(s) == Pb>*(aq) + 2Br(aq)
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Test yourself 10B

1 CaSO,(s) == Ca’'(aq) + SO (aq)
) 10 mL
l(‘u‘ 'I e Ih()4 I = ",j() ml x 0.001 mol !

= 5x 10" mol L"!
lonic product = [Ca’*][SO,*]

= (5x 10?2
2.5x 107

lonic product < K s0 no precipitate will form.

2 a [Pb**] = 0.025mgL™"
= 25% 10 gL

2.5%x 105 g L'
207.2 g mol™!

1.2% 107" mol L™

247 _ 9mL x1.2066% 107 mol L™
b o] " = (9mL + 1 mL)

1.1 107" mol L™

2.7 _ 1mL x0.100 mol L™
¢ [G07) = i mL)

= 0.0100 mol L™!

d IP = [Pb2+][CrO 2]

= (1.1 x 10" mol L-1)(0.0100 mol L-!)
= 1.1 x 109 mol L-!
IP > K so precipitation will occur

3 "AtpH= 13, [OH-] = 0.1 mol L-!.
Mg(OH),(s) = Mg?*(aq) + 20H-(aq)

K, = [Mg**][OH)?
K, ~r 2
opp = Meg”]
I x 10" .
o = Mg

IX 107 mo] -

i

[Mg2 + I
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